[N
S
w

a(6 @) (rad)

-1 0 1 2 3
TP n (PCA to beamline)

a(d cot(B))

------- Sentn

0.95!

-1 0 1 2 3
TP n (PCA to beamline)

-2

T

—=— DQM_original_step2__pt1to20_etalp6to2p0
—e— DQM_mkFit_step2__ ptlto20_etalp6to2p0

—— DQM_pixelCPETemplate_step2_ ptlto20_etalp6to2p0

aoa, ) (cm)

[y

------- EEEIE

C
[V L L

-2 -1 0 1 2 3
TP n (PCA to beamline)

a0 p,/p,)

10v

Ratio

0.95

: ‘

e

E LI
> I I I I I I
e s S |
32 -1 0 1 2 3

TP n (PCA to beamline)

=107

z

o(®d) (cm

-1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


